The Economic Problem – 1 Theme
	Justification
	Disadvantages of decision
	Options
	Scenario

	
	
	a)Reduce the budget going towards the NHS in order to maintain funds going to education.
OR
b)Put more money into benefits to support those without employment.
OR
c)Increase funding in education to improve skills of the UK citizens.
	Tax revenue has fallen due to higher unemployment rates. The government budget has therefore been effected, some sectors need budget cuts. Should the government....

	
	
	a)Reduce income tax to increase disposable income and increase corporation tax.
OR
b)Give small businesses grants to help them survive high costs and reduce investment in healthcare.
OR
c)Reduce corporation tax and increase VAT.
	As a result of increasing prices, businesses within the UK are suffering due to lack of consumer demand. Should the government...

	
	
	a)Put a deposit down on a house and not start the business she always wanted.
OR
b)Take a risk and start-up a business and continue renting.
OR
c)Pay off her debts
	Amanda has been saving money for 20 years, she has a total of £40,000. Should she...

	
	
	a)Reduce university fees and increase income tax.
OR
b)Offer more scholarships and reduce funding in primary education.
OR
c)Provide grants for students with low household income and reduce funding of free school meals. 
	Less young UK citizens are going to university due to increase in fees. Should the government...

	
	
	a)Reduce his staffing to cut costs and face a fall in production.
OR
b)Buy cheaper raw materials and keep his staff.
OR
c)Spend more money on advertising his business and employ only part-time staff.
	Manuel owns his own small business, he has made a loss in profit recently. Should he...
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